Name Class Date

Practice Form G

Multiplying Binomials

Simplify each product using the Distributive Property.

1. (x +3)x + 8) 2. -y +7) 3. (m+9)(m-3)
4, (c—-6)c-4) 5.2r=5)(r+3) 6. 3x+1)(5x-3)
7.(d+2)(4d-3) 8. (5t-1)3t-2) 9. (a+1D)(11a+1)

Simplify each product using a table.
10. (x +3)(x - 35) 11. (a—-2)a—-13) 12. (w-4)w + 8)

13. (5h=-3)Yh+T7) 14. (x —3)(2x + 3) 15. 2p + 1)(6p + 4)

Simplify each product using the FOIL method.

16. (2x — 6)(x + 3) 17.(n - 5)(3n-4) 18. (4p° +2)(3p - 1)
19. (a + 7)(a - 3) 20. (x +3)(3x = 2) 21. (k- 9)(k + 5)

22.(b-5)b-11) 23. (4m — 1)(m +4) 24. (7z + 3)(4z - 6)
25. (2h + 6)(5h —3) 26. (3w + 12)(w +3) 27. (6c - 2)(9%¢ - 8)
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Name Class Date

Practice (continued) Form G
- Multiplying BlnomlaIsSA {
' 23 )What is the surface area of the cylinder at the rlgh‘ﬂ Write your x4

janswer in simplified form.

" X7
29, The radius of a cylindrical popcorn tin is (3x + 1) in. The height J-

! of the tin is three times the radius. What is the surface area of the
| g . o . ord
jeylinder? Write your answer in simplified form.

30__.] The radius of a cylindrical tennis ball can is (2x + 1) cm. The height of the
" tennis ball can is six times the radius. What is the surface area ot the
cylinder? Write your answer in simplified form.

Simplify each product.

31. (x +3)(x* = 2x + 4) 32. (k* - 5k + 2)(k - 5)
33.(3a* +a + 4)(2a - 6) 34, (2x* +2x - 6)(3x — 4)
35. (4g+5)(2g° - 7g +3) 36. (m* = 2m + 7)(3m + 6)
37. 2c + 8)(2c* - 4c—1) 38. (1 + 8)(31 + 41 + 5)

( 352;/' A medical center’s rectangular parking lot currently has a length of 30 meters
| / and a width of 20 meters. The center plans to expand both the length and the
width of the parking lot by 2x meters. What polynomial in standard form
represents the area of the expanded parking lot?
(2x 3)(x+7)
40. Error Analysis Describe and correct the error made in I X /7
finding the product. f =~ :
2x 2xL | 14x |
3 =
2x%+ 17x + 21

~ 4. ]Multl Step The height of a painting is twice its width x. You want
_Ja3inch wide wooden frame for the painting. The area of the frame
<~J alone is 216 square inches.

a. Draw a diagram that represents this situation.
b. Write a variable expression for the area of the frame alone.

¢. What are the dimensions of the frame?
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Form G

8'3 Practice

Multiplying Binomials

Simplify each product using the Distributive Property.

1. (x + 3)(x + 8)

1% + 24

4. (c — 6)(c — 4)

7. (d + 2)(4d - 3)

bt 4+ 5d

2 y-490+7
yo ok 3y =28

5. (2r — 5)(r + 3)

8. (5t — 1)(3¢t — 2)

Simplify each product using a table.

10. (x + 3)(x — 5)

13. (5h — 3)(h + 7)

11. (@ — 2)(a — 13)

Iaa + Lo

14. (x — 3)(2x + 3)

Simplify each product using the FOIL method.

16. (2x — 6)(x + 3)

1 &

19. (a + 7)(a — 3)

22. (b — 5)(b — 11)

1660 4+ 55

25. (2h + 6)(5h — 3)

+ 24h 14

17. (n — 5)(3n — 4)

N T

20. (x + 3)(3x — 2)

23. (4m — 1)(m + 4)

ek

26. (3w + 12)(w + 3)

w2 1w 4

3. (m + 9)(m — 3)

6. (3x + 1)(5x — 3)

9. (a + 11)(11a + 1)

11as 4+ 122a +

12. (w — 4)(w + 8)

15. (2p + 1)(6p + 4)

18. (4p® + 2)(3p — 1)
21, (k — 9)(k + 5)
24. (7z + 3)(4z — 6)

27. (6¢c — 2)(9¢c — 8)
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8 3 Practice {continued) Form G
- ~ -~
Multiplying Binomials y S - 18
plying A:é{ Nt o J.-'r,_
%
28. What is the surface area of the cylinder at the right? Write your x+4 e ( v L [ . r"' ‘]""rrf }
answer in simplified form. -l- = J*,.-- S A r'/"-
2 o 2 - s 7L
4rx< + 38mx + 88nm X+7CZ/”(% + H X*/r_ )T’ )
29. The radius of a cylindrical popcorn tin is (3x + 1) in. The height J_ i , ) f".“"— -
of the tin is three times the radius. What is the surface area of the A [ ( ¥+

cylinder? Write your answer in simplified form. 2

727 x% +1 4875+ 8% = ZKHJX "'/(7“/26 i
30. The radius of a cylindrical tennis ball can is (2x + 1) cm. The height of the X M [XZ

tennis ball can is six times the radius. What is the surface area of the cylinder?

Write your answer in simplified form.

56xx2 4+ 567X + 147

Simplify each product.
31, (x + 3)(x% — 2x + 4) 32. (k* — 5k + 2)(k — 5)
33. (3a% + a + 4)(2a — 6) 34. (2x2 + 2x — 6)(3x — 4)
35. (4g + 5)(2g*> — 7g + 3) 36. (m? — 2m + 7)(3m + 6)
A i —
37. (2¢ + 8)(22 — 4c — 1) 38. (t + 8)(3 + 4t + 5) | _
ac? N / ||' d'.
/ 39. A medical center’s rectangular parking lot currently has a length of 30 meters IJ o 20
’ and a width of 20 meters. The center plans to expand both the length and — -
the width of the parking lot by 2x meters, What polynomial in standard form 40 4 Z?(
represents the area of the expanded parking lot? /———; B /OO . Z 'v“
VRSN { )
4x% + 100x + 600 [30+L7 [ 4 P
40. Error Analysis Describe and correct the errormadein N\ (2x-3)(x+7) ~ ) Z
/ finding the product. N x J Pz 000 t (00Y t L/q( 'L%L
In the table, the 3 shoutd be -3. Therefore, 3x should 2x M 14x T2 ) [OO
be —3x and 21 should be --21 The answer is e /__ 3 21 f‘)( ‘{’ /0 Yf !
242+ 11ix - 21. - -
L 7 Ex 1Tx+ 21 N
e

[

/

~

41. Multi Step The height of a painting is twice its width x. You want
a 3 inch wide wooden frame for the painting. The area of the frame
alone is 216 square inches.

. . . Al 7 tr, { -
a. Draw a diagram that represents this situation. 13 13 |2t (\Y
b. Write a variable expression for the area of the frame alone.
18x + 36
¢. What are the dimensions of the frame? Ic.nqth is 26; width is-16 +
Of{? k)  Lfio
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